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Read the instructions and do as directed.  

I. Read the questions carefully and circle the correct option.  

 1) Which of the following is the correct numeral for Four lakh fifty-nine thousand seventy-
three? 

  (a) 4,50,973                 (b) 4,95,073                 (c) 4,59,730                  (d) 4,59,073 

 2) 234 + 567 = 567 + ___________. 

  (a) 567                        (b) 234                        (c) 801                          (d) 0 

 3) 4590 – _________ = 0. 

   (a) 4050                     (b) 4550                       (c) 4590                       (d) 4059 

 4) The Successor of 2999 is  

   (a) 2000                     (b) 2998                       (c) 2990                       (d) 3000    

 5) If you round off 5178 to the nearest 100, which of the following will you get as your answer? 

   (a) 5200                     (b) 5080                       (c) 5100                       (d) 5070    

 6) In which of the following numbers is the Place Value of 5 equal to 50,000? 

  (a) 7,45,392                 (b) 3,85,000                  (c) 6,58,210                 (d) 5,24,821 

 II. Do as directed. 

  1) Write the numeral for 6,00,000 + 50,000 + 3,000 + 700 + 40 + 9.  

    Ans:  _________________________________ 

  2) Write 49,328 in the Expanded Form.  

     Ans: _______________________________________________________________________ 

     ___________________________________________________________________________ 
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   3) Observe the picture of the abacus shown below and answer the questions that 

follow. 

 

 

 

 

 

   a) What number has been shown on the abacus?  

    Ans: ____________________________________ 

   b) What is the Predecessor of the number shown above? 

    Ans: ____________________________________ 

  4) Draw beads on the picture of the abacus given below to show the number written 

below the spikes. 

 

 

 

 

 

 

  5) Arrange the given numbers in ascending order. 

        34,586;              43,856;             34,568;                43,568 

     ___________________________________________________________________________ 

  6) Use the given digits to build the smallest and the greatest 6-digit numbers 

without repeating the digits.      

Digits Smallest 6-digit number Greatest 6-digit number 

7,0,1,2,5,9   
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   7) Match the numbers in column A to their correct number name in column B. 

         

       Ans:  1) - _____; 2) - _____; 3) - _____; 4) - _____ 

   8) Compare the numbers given below. Use >, < or =. 

       a) 4,09,267                49,027 

       b)   83,928                  8,39,028 

9) Read the word problems below and identify the operation you should use to find 

the correct answer. Put the correct sign (+ or –) in the space provided. 

1. A library has 2,815 story books in Hindi and 3,450 story books in English. 

What is the total number of books in the library? 

 

2. A vendor sold 380 ice-creams on Friday and 520 ice-creams on Saturday. 

How many more ice-creams did he sell on Saturday than on Friday? 

 

3. I bought a shirt for ₹ 4,500 and a T-shirt for ₹ 3,000. How much money 

did I spend on both these items in all? 

 

4. How much more is 56,000 than 45,000?  

 

  III. Solve the following. 

1) Arrange and add.   4589 + 2367   

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________ 

Column A Column B 

1) 67,912 a) Six lakh seventy-nine thousand two 

2) 6,79,002 b) Ninety-two thousand five hundred eighty-three 

3) 9,25,783 c) Sixty-seven thousand nine hundred twelve 

4) 92,583 d) Nine lakh twenty-five thousand seven hundred eighty-three 
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2) Subtract and check your answer using addition.    7890 – 2364  

  

3) Read the word problem below, write appropriate statements and solve. 

    A newspaper company printed 5780 copies of the newspaper on Friday and 6820 copies on 

Saturday. How many copies of the newspaper did it print in all?  

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________ 

__________________________________________________________________________

__________________________________________________________________________ 
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